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MAT 111 — section Name: (
Test # 1, version A Seat #: , (/
Chapter 1, and sections 2.1 & 2.2 100 September 18, 2009

Directions: Show all work algebraically unless otherwise indicated. If solving graphically, label the
graph and the solution on the graph. If rounding is necessary, round to the nearest hundredth.

1. Given the points A (-6, 2)and B (1, 6 ), find the following. ~lpt lfé £ ign WVIRg
(2 pomts) g(?Sﬂqints) b ( 4 pomtx) . Lo T
a. Sketcha graph to |1histrate these. b. Find the length of 4B . c. Find the midpoint of 4B .
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(9 points) B ( 9 points)
2. Solve. Illustrate your solution on a number line. 3. Find the equatlon of a line through the
Use inferval notation to express your solution. two points (2, 3) and (-4, 5).
—4x+9221 (Graph your line to check your answer.)
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MAT 111 Test 1, version A, page 2
Solve the following equations. Find all solutions.

( 10 points ) ( 10 points )

4. 4x-7 = x-3 5. |3x+2|=

(Check your solutlons)
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6. x'+3x+5=0
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8. For this equation, 9x” +4y =36 , determine the

5age 3 Gﬁrl\

intercepts and the type of symmetry of its graph. 5 f(z'
Sketch the graph and label the intercepts. :
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10. A chemistry experiment calls for 2.4 liters of a 2% acid solution. The lab has containers of 1% acid

solution and 5% acid solution. How much of each must be mixed in order to have what is needed for
\ th,l;;,elcgel.%nent? Tell what your variable represents, show your equation, your work and your solution.
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